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Supporting Information 

 
 

In the following pages we report the radial distribution functions of  the systems investigated. 

Stoichiometry, density, packing fraction, charge and temperature are indicated in each  panel.



GB:LJ = 1:1, * = 0.261, * = 0.371 

q* = 0.0/0.0 
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GB:LJ = 1:1, * = 0.261, * = 0.371 

q* = +0.50/ 0.50 
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GB:LJ = 1:1, * = 0.261, * = 0.371 

q* = +2.0/ 2.0 
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GB:LJ = 1:1, * = 0.303, * = 0.428 

q* = 0.0/ 0.0 
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GB:LJ = 1:1, * = 0.303, * = 0.428 

q* = 0.5/ 0.5 
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GB:LJ = 1:1, * = 0.303, * = 0.428 

q* = 2.0/ 2.0 

 

0 2 4 6 8 10
0

2

4

6

8

g
(r

)

r*

 gbgb
 gblj
 ljlj

T* = 0.40

 

0 2 4 6 8 10
0

2

4

6

8

g
(r

)

r*

 gbgb
 gblj
 ljlj

T* = 0.60

 

 



GB:LJ = 1:1, * = 0.363, * = 0.514 

q* = 0.0/ 0.0 
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GB:LJ = 1:1, * = 0.363, * = 0.514 

q* = 0.5/ 0.5 
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GB:LJ = 1:1, * = 0.363, * = 0.514 

q* = 2.0/ 2.0 
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GB:LJ = 1:2, * = 0.332, * = 0.371 

q* = 0.0/ 0.0 
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GB:LJ = 1:2, * = 0.332, * = 0.371 

q* = 0.5/ 0.25 
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GB:LJ = 1:2, * = 0.332, * = 0.371 

q* = 1.0/ 0.5 
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GB:LJ = 1:2, * = 0.383, * = 0.428 

q* = 0.0/ 0.0 
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GB:LJ = 1:2, * = 0.383, * = 0.428 

q* = 0.50/ 0.25 
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GB:LJ = 1:2, * = 0.383, * = 0.428 

q* = 1.00/ 0.50 
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GB:LJ = 1:2, * = 0.383, * = 0.428 

q* = 2.00/ 1.00 
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GB:LJ = 1:2, * = 0.460, * = 0.514 

q* = 0.0/ 0.0 
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GB:LJ = 1:2, * = 0.460, * = 0.514 

q* = 0.50/ 0.25 
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GB:LJ = 1:2, * = 0.460, * = 0.514 

q* = 1.00/ 0.50 
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GB:LJ = 1:2, * = 0.460, * = 0.514 

q* = 2.00/ 1.00 
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